th-2 13 9] 3|HA= AABC oA ojH AR =0 7 5lo] 5] H A
Aoz MEW?
A
=Y
B C N
O AB @ BC ® AC

VR /N
@ 5.0ptAB ® 5.0ptBC



cm



ohe 172 R ol &’ 3H 40 B o] AlS A4S Yehd S| AETL
Hld dF7F AojA Holx] ef=tt. 70 A o<l s Ao H

%14 Fstofal,

(3

12 e A
10 J:
8 N/

8 ]

4

2

07150170190 T(A)

40 60 80 100



@D 10 ™

2lo QB iy 25t Ao st TR iz o]),
A

Fol SHA =7} A 2] 10% o|th. A e 9

(8)
AN —

10 —L

8

M\
6 1/ \\
2
4

\
0 405060 70 80 90 (&)

@20 G309 @409

g Foha?

G 50 ®



5.

o A e R vhE AA=FelA BC 2 g A
AN e BEAEE 2 /1A FFstofzt




